YaxX 7"7 '0mN R,7°2"2 .7"02

A finger and a half for this wall — 777 HNh R PaXN

OVERVIEW

According to 777 " the 1R (which was two and a half mnX long) was twelve and
a half onov long (based on an 7»k being five o°nov). The Mm? were a total of
twelve ooV in length, leaving half a ndv, which comprised (partly) the thickness
of the walls of the 117X. There was a X077 that each wall was a fingerbreadth and a
half thick. A nov is the equivalent of four 127X (thumb), five nmyaxx (forefinger),
or six 2°n71 (‘pinkie’).1
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It is the view of the n''9 that the text does not read r2n» YaxxX, but rather the
text reads 577 N1 »axx (one fingerbreadth for this wall (of the 1) -
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For if the X023 is mxnm»y yaxx there will be the difficulty of how can the mm?
which are twelve 2°15v long fit [into the cavity of the 1% which is twelve ampw
long] as the X773 asks later -
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But rather the Xo9°2 is (only) ¥axX (but not 7xrn yaxX) and it means a small
vaxX of which there are six (of these small Ny2x¥X) in a now.

SUMMARY
The thickness of the 17X wall was one small Y2¥R.

THINKING IT OVER

Why is it necessary for nM9oIn to state that we are discussing NIV NIWIXN
(meaning a n7);° even if we are discussing a regular yaxx there will still be a
remaining space of half an y2x¥X (since a 190 is five Myaxx; half is two and half
Myaxx and the walls together take up only two NyaxX)?

' See yaxx 7"7"wA.

2 We would then be forced to say that ¥ax¥X refers to a n71, of which there are three in half-a-ndv (for three nyaxx are
more than half a rov; see previous footnote # 1).

* The n"2n mmx1 amends this to read *2%1 223 wy.

* See '2 Ty where the X3 asks (regarding the n"v) 2°n X3°77 N2 *7n. See however *"w1 (here) yaxx 7'"7.

> See ‘Thinking it over’.

® See footnote # 5.
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